

جواب اول

$$\text{ii) } f(n) = \sqrt{\frac{n-1}{n} - \frac{n}{n-1}} = \sqrt{\frac{(n-1)^2 - n^2}{n(n-1)}} = \sqrt{\frac{(n-1-n)(n-1+n)}{n(n-1)}} = \sqrt{\frac{-1(n-1)}{n(n-1)}} = \sqrt{\frac{-1}{n}}$$

$$\frac{0}{+} \frac{1}{-} \frac{1}{+} \frac{1}{-}$$

$$D_{f(n)} = (-\infty, 0) \cup \left[\frac{1}{n}, 0\right)$$

$$\text{iii) } f(n) = \frac{\frac{1}{n+1} - \frac{1}{n}}{\frac{n}{n-1} + \frac{1}{n+1}} = \frac{\frac{n-1}{(n+1)n}}{\frac{n^2 + n + 1}{(n-1)(n+1)}} = \frac{n-1}{n(n+1)(n^2 + n + 1)}$$

$$D_{f(n)} = \mathbb{R} - \left\{0, -1, -\frac{2}{3}\right\}$$

$$\text{ii) } f(n) = \sqrt{\left(\left(\frac{1}{n}\right)^n - 9\right)(n - 2^n)} \geq 0$$

$$\left(\frac{1}{n^n} - 9\right)(n - 2^n)$$

$$\frac{-9}{-} \frac{90}{+}$$

$$-n = 9 \rightarrow n = -9 \quad n = 0 \rightarrow n = 90$$

$$D_{f(n)} = [-9, 90]$$

$$\text{iv) } \sqrt{n-1} + \sqrt{4n+1} \geq 0 \quad \sqrt{n-1} - \sqrt{4n+1} = (-\sqrt{4n+1}) \rightarrow \sqrt{n-1} + \sqrt{4n+1}$$

$$n-1 \geq 0 \rightarrow n \geq 1 \quad -4\sqrt{n-1} = 4n+1$$

$$4 = -4\sqrt{n-1} - 1 \quad n \geq 1$$

$$D_{f(n)} = [1, +\infty)$$

$$f(n) = \frac{\log_e (n^2 - n - 1)}{\sqrt{n^2 - 1}}$$

$$n^2 - n - 1 \geq 0 \rightarrow (n-1)(n+1) \geq 0$$

$$\frac{-1}{+} \frac{1}{-}$$

$$n = (-\infty, -1) \cup (1, +\infty)$$

$$n^2 - 1 \geq 0 \rightarrow 1 \leq n^2 \rightarrow n \leq -1 \cup 1 \leq n$$

$$D_{f(n)} = (-\infty, -1) \cup (1, +\infty)$$

Q. 2 Tried also

$$f(m) = f\left(\frac{1}{m}\right) = \frac{m^2 - 1}{m} \rightarrow \infty$$

$$f = a n + b \rightarrow f(1) = f(-1) = f(-1) = \frac{(-1)^2 + 1}{-1} = -2$$

$$f(1) = -2 \rightarrow f(-1) = -2$$

$$n = 0 \rightarrow f(1) f(0) = (m-1)$$

$$n = -2 \rightarrow f(1) f(-2) + 4 f(1) = 14 + 2m + (m-1)$$

$$f(1) f(-2) - f(1) f(0) + 4 f(1) = 14 + 2m$$

$$f(1) (f(-2) - f(0)) = f(1) (14 - 4) = 14 + 2m$$

$$f(1) (14 - 4) = 14 + 2m \rightarrow f(1) = \frac{14 + 2m}{14 - 4}$$

$$1 = \frac{14 + 2m}{14 - 4}$$

$$-4 = 14 + 2m + (m-1) \rightarrow 14m = 14m$$

